y X y
jél y x' y 2
mx =—-F,cosf0—F,sinf  x 1)
my=—F —F,snfd+F, cosf y 2
m F, F, F, 0

VoC0sO
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ho
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mxz—ECﬂﬂﬂAaBH—gﬁﬁd%WSnH X

my = —mg —%CdezAsine +%n2pd3I/NcosH y

x=V_=Vcos6
y=V,=Vsno
©) 10 6 )
2 3
p=-Cardy [fy2iyz TpdN, x
2m 7 8m 7
- C,pA . [2 2 wnpd®N
Vy =—g _WV)/ Vx +Vy +VV)¢ y
12)
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4 Runge-Kutta Method Appendix-1
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Cd
Microsoft Excel
3.
3.1
3 (b) 56.0g 59.4g
m =5.89x10" kgf s°/cm 57.7g
g g =980 cm [ s?
14 6.541 cm 6.858 cm BTl Fast BT?2
Medium d=6.7cm
A="x6.7% = 35.26 cm?
4
25 p=1.208x10"° kgf s /cm*
25 v =156x10" m?/s
Vo =152535mls
Re _ d V _ 0067X155 0067><355) _ 64)(104 15)(105 1
% 1.56x10 1.56x10
C,=05
2
20 30 50
N =0, £15, + 30, 45, + 60 rev/s
2
25m 35m Vo=25 35mls
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0, =4°, 5°, 6° 6, =10°, 15°, 20°

90 cm
Xo=0, y,=09m
3.2
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— 15rev/s 4°
— 30rev/s
3 — 45rev/s
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(m)
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-_— 25m/s
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— 30rev/s
3 = 45rev/s
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(m)
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0
(m)
2-2 25m/s 5°
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3.2.2
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3.23 35m/s

35 m/s 4
35 m/s 4° 5° 6°
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3.24
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Appendix-1

(xn’yn’zn)

ky+ 2k, +2k; +k,
6

_, +ll+212+213+l4
n+l n 6

yn+l:yn+

z

klex’f(xn’yn’Zn)

Ax k l
ky=Ax- Y, t =z, + =
2 f(xn 2 yn 2 Zy 2]

k3:Ax-f(xn+%,yn +k—22,zn +%2j
k4=Ax-f(xn +Ax, y, + ks, z, +l3)
llex‘g(xnayn-Zn)

ky lj

Ax
I, =Ax- +—,y, +=2,z, +2
2 g('xn 2 yn 2 Zn 2
Ax k l
Li=Ax-g|x, +—,y, +—2,z, +=%
3 g( n 2 yn 2 Zn 2)

l4=Ax'g(xn +Ax, y, + ks, z, +l3)

N

J

10

(A-1)

(A-2)

Vst Zns

(A-3)

(A-4)

(A5)
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